IWEE—K’F&G)RR. ERT—IN—2IBISH—F

20225118128 (+) SERR#3H

E%B‘“TJ/TS JG3 YSREE3I®L (BSE) FIE

‘(fﬁ} W ‘I%EH?’JF&] I

lzkaﬁ] 17&:29,000,000H / 27%&:

12,000,000  ~ 3 7&:7,300,000 @ 43 :4,400,000 F 5 7 :2,900,000 3

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
» P BEIK 126. -1-1- . - BKAEE (FR)
Ry =X D2 Y650 el B [ A = e
RiFAIXIv— BiRyI—AXEU— =mEiis
© 3 5 :27. -4-3- . - SHE— (FR)
217110/ TH N RU—L 10 | B 3(277)3 5-4-3-3 | 13.2 10 (4_642) ) o
RIALVIAVHLYY BSURAT #HBIT7—L
o 5 | BRRZ 3:27.8 2-2-2-2 | 13.2] - 7 | 486 |BHEH (FEHR)
38|12 AN—bh7PRvI R 60.0 G172 wg) | Al
RIN=YTS54 B:AY—KML—E— #HARHAT—
. i 51 :28. -6-6- . - ROEBE (=)
42| TA¥VIUYT il i & eEe B2 : ?742) %) Fe
Ri—5—=IvF BIAIVHBIHY SERUS
. JEReth :28. -11-9- . - ?K% (FER)

1 v 2ALE—F 6 s (31218/23) 11-11-9-7 | 13.3 9 (4_8;1) i
RiALYavHLYY B:oOYIR— ﬁ-t #H J—ZELR
= INEFFHER 128. -6-4- . - AtEBS (FEFR)

6l5|6|7rTLF2—n 18] ol W | et - | | BN
RiTSvIIAR B:TFAILERA FA LS
' — 45 | AVEHIRK 3:30.2 3-3-5-5 | 13.4| — 3 294 | BEFE (FR)
vd ¢ EYCEdmr s 60.0 (10) -8 @) Fv0vhTr—1
R:F4—=FAVNITN B:OUYTFL—X /=Y IT7—L
N EEFEth : -10-10- - HKEBET (FRN)
817111 P4 XATZAER [B] % 6 60.OE (32310/263 9-10-10-8 | 13.4 12 (i?(za) ’§$I§1—j
RiNAO B:FAACHFNUPIL ifﬁ# i}
S == - GBiERE— : -9-8- - fLf) (%%ﬁ)
9l8l13| UN=YTIWL—Y i 6 anR 3(73(‘):)7 9-9-8-8 | 13.4 8 48;3 IEEE
RIN=VISA B:AYTFAL—Y "HBT7—L
Wy — o4 | BHE 3:32.9 12-12-11-11| 13.6 | — 13 | 474 |FREBE (FF)
Eﬂ 5| AYyYholb 60.0 (544) o) | B0 DFPIH—ILF VTR
RiIAYVTSvya BRAE—A(yYI1— Fazite)
n N LEFH : —6-6- - r=E— (EH
15| 7| ¥x19> [B] # o6 | L5 3(.13/32.)0 8-6-6-10 | 13.6 6 gz:) x%_( )
RiW—5—yvF BU—TFATTIAR BHT7—L
— > 8 | BrEEE _ - N SEED (EH)
By 3| ZIW—TT54 RN ine (h1b) - ) gg @) HBL—RK—2
RIN=VISA §:YTTFTU— #HET7—L
- P HORMEIf2 - - - - RRERFZ (ZB3R)
ok 4 . JTEZFV7 [B] el (ch1k) ° (4:3(3 =EBR
RINSVEYR BEV—RO(—Y el e
[ BN
Eh' 49.9-37.2
IA\m D2 ON
@ 11— —BBIEfI
13—7— 8,12(9,3)10(2,6)7(11,13)-1=5 4
20—F— (+8,12)9(10,3) (2,6,7)13,11,1-5 4
30—7— (+8,12)10,6,9(2,7)13,1,11=5 3,4
43—F— 8-12,10,6-9,2,1-(11,13)7=5 3.4
o ILRE
B B 8 170M JA R 8-10 1,070M4 & 6-7 1,670 3EE 8-10-12 12,390M4
g B 8 110 8-12 800/ 5 & 8-10 2,780M 3EH 8-10-12 39,6400
10 5504 10-12 5,480M =51 8-10 3,370
12 420

ABCDOVTIRHTERERRODDZ, THERAILZETL




